c=3x10% m/s (in free space), c = 2 x 108 m/s (in media), 1 km = 103 m, 1 ms = 1073 s, 1 Mb = 10° b

F{rect(t/T)} = Tsinc(fT) = Tsin(n fT)/m fT
Flsine(t/T)} = hrect(fT), F{eot} = 6(f — fo)
F{1 —|7]/T} = Tsinc(fT), X () = 32° __ x[n]e I
sin(a + b) = sina cosb + cosasin b, cos(a + b) = cosacosb — sinasinb
sin(a + b) = sina cosb + cosasin b, cos(a + b) = cosa cosb Fsinasinb

2 2a=2cos?a—1

cos? a = 0.5(1 + cos 2a), sin 2a = 2sin a cos a, cos 2a = cos® a — sin
cosa = (/% 4+ e77%) /2, sina = (e/* — e77%)/j2 tana = sina/ cosa
ol f) = [X ()2 Calf) = T leal20(f = nfo), Galf) = limp oo | X1 (f) ?
Ro(1) = [%_ a(t)x(t + 7)dt, Rp(7) = limposoo 7 [*o, x(t)x(t + 7)dt

F{Rx (1)} =Gx(1),¢c, = ffooo x(t) exp(—j2mn fot)dt
SNR [dB] = 10log(SNR)



